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1. EPRTESR
2. IPEPA&X (higher-order functions)
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3. SHRIEX (polymorphic functions)
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{BE : TESX - BISKESS

fun B3KXB 5IKB, . 5B, = 3




w1 b 1 : BPhESE

elet [EF, in I, end
- EF[FN OPTOIMER D

e local EF, In EF, end
- ERIFER ,OPTOAMEZX D

n [EOREHEEG ) EFRICAIND
m let&locallFEHiESHO) ? o inOhHES

o let . in .. endid2FELTRIC,
local ... in ... endIF2FELTESRICTG D




- val p1 = 3.14

= p1 * 10.0 * 10.0
val 1t = 314.0 : real
- val p1 = 3.14

= fun area r = p1 *r *r
val area = fn :© real -> real

- area 10.0 ;

val 1t = 314.0 : real

- p1 ;

stdIn:22.1-22.3 Error: unbound
variable or constructor: pi




kel 3. |

KT OEFOAZIREICATIL.
BREEFEF,

.val p1 = 3.0

. let val p1 = 3.14 1n
pi * 10.0 * 10.0 end

. local val pi
fun area r =

.pr * 10.0 * 1
. area 10.0




1 b2 : =EFEREX

fllER :

FEFBANRRXMSFANNRRAKNAOR
RIERIHTIR->T, €Nemn LR

frZiRd | VSRR FIEEH.
- WA

£1(x) = f (x+0.001) - f(x)

0.001
Elfe &,




el

fun diff f = (* AEre3|8&ELTERHRS *
let

fun T° X = (- RAr"ZEN *
(f (x + 0.001) - £ x) /7 0.001
in
L > F"2B&RECTIETG ~

end

e 2OFHIC KKz IKXELTRITERS
Ho\F RHEEERECTIRT ) &%
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- fun diff £ = .. ; (* pON—2ERC *)

val diff = fn : (real -> real) -> real ->
real

- val g = diff Math.sin ; B| 0D F HV R By FY

val g = fn - real -> real
- g 0.0 : T EEORL R
val 1t = 0.999999833333 : real

- g 3.14 ;

val 1t = ~0.999999361387 : real

- (diff Math.sqrt) 1.0 ; (* #5NIFABEDIRE *)
val 1t = 0.499875062461 : real




Rl 3. 2

1. Math.sqgrt, Math.sin, Math.cos,
Math.tan, Math.exp, Math. Inig&
OBRIEKICOLVT, FOdiffaMBI\THit

FEHEL, BREEDE &,

- FEINRAKRDSTHNEAKAOR
UK E AR TERLT, KOdifr
R\ THAEHEL, BREERY
&.
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5 s > EMPloEE..

o SMLTIF, +\r g E—ERABEN, BEREF
BNKRZOMABICINTA—/R—O—F (5
EES) INTIS

e LN,

- RERIFIRBIF. T7 2 IL S TEENBEAIND
- fun square x = X * X ;
val square = fn - Int -> Int
- FAMNERFICOLLEIVREIF '3\ - B BER
XK CEZIEET S
- fun square (X :- real) = X * x ;
val square = fn : real -> real
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BAXMSERNORRICH L,
g(n) = f(n) - f(n-1)

16 RO EBTOBEELS,
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el 3. 4

BRENSEEAORARIE, IFAE&ZnZS]|
WECLTZMEL, f(D)+f(2)+f(3)+..+
f(neS&RE UL CIRIBEsignazEit.

s FOFHLGNIFRIY
- fun square X = X * X ;
val square = fn - Int -> Int
- sigma square 10 ;
val 1t = 385 [ Int
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e BB O)BIFRATKsunZ S8
e EERIFROFHIGRCTEITS

fun sigma f n =
IT n =0 then 0O else
G T(QOH+HF(2)+TF(3)+...+F(n-1)
Zikeh., ENICT(N)BEMZD *)
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PR 3. 5 (optional)

FRNNE RN S FRNNE XA KT
ZZHER->T, f&20.0m>1.0FTEAL
E&ERzIRBIAKIntegralzEH.

- IRPF

Iol f (x)dx = {f (0)+ f(0.002) + f (0.002) +...+ f (0.999)}x0.001
Eilflie &,

e E2l: NFERMNERAEZXBERHE A>T, f(x)+ f(x+0.001) +
f(x +0.002) + ... + f(0.999)%iEBd | BIRRIEKZRPAETEL.
(g 0.0) * 0.001%iRd,

m integral Math_expOfEhil. 72<SHICTFNIFR).




R 3. DONER

o FMNXRRARICIFREN DL HBAT,
. ME=EGCHERLUTC, <-ETKRIBIE,

- 0.1 +0.1 +0.1=0.3 ;
stdIn:17.1-17.22 Error: operator and

operand don"t agree [equality type
required]

operator domain: ""Z * ""Z
operand: real * real

INn expression:
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fillieR -

'R TERR 9= RITHR - T,
fEJOBREKEIET ) £(15

P&k compose&E[1,




el

fun compose T g =
let fun h x = g (f X) 1In
h end ;

val compose =
- ("a -> "b)
—>(b—> "C)
-> "a -> "cC

"a, "b, "clF "fAICERI), (BIEEK)
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— (compose Math.exp Math.In) 1.23 ;
val 1t = 1.23 : real

- fun square X = X * X ;

val square = fn - Int -> Int

- (compose square square) 10 ;

val 1t = 10000 : Int

<O composeNFHIC TEABRICHIT
TIERAD ) BEZSHEHES,




R 3. O

T ORXGSHERTH S, EASF
FGERBEFHFONERLCERES., &F
E. RRICHRR1IGETE-> TS

1. fun 1d X = X

2. fun FIrst X y = X

3. fun second X y = vy

4. fun twice T x = T (f X)




Rl 3. 7

shed 3. 4 Ofd8sigmak, REB
3. 30M&delta%, BIHO
composeCRLIEH, ENFSH

RAKICE 3D, \<2MOfilE
ERICH LU CHERE &.
- BRROIREICEFRI S E




PR 3. 8 (optional)

1. TRRFfEIEARENERIMTHIL],
fanbDapk U %zIRY | &01\5
K& repeatz &I,

2. FiliO)yrepeat&aiOdi Fra{E -
C. FIhEREMSFRNERE
ANOFRRTGRAEONER? (N
2) 2°k&), BREHERE F.




